दिल्ली विकास प्राधिकरण अधिशाषी अभियंता का कार्यालय स्पोर्ट्स मैनेजमेंट सेल 1 मंजिल, स्क्रैश और बैडमिंटन स्टेडियम, सिरी फोर्ट रोड, नई दिल्ली -110049 ईमेल: <u>ee01smc@gmail.com</u>

No. F I(477)EE/SMC/DDA/2019-20/ 714

Date: 23 01 2020

To

M/s S.V. Enterprises, A-125, Surajmal Vihar, Delhi-110092. मैसर्स एस वी उद्यम, ए -125, सूरजमल विहार, दिल्ली- 110092

Sub : M/o Various sport complexes/Golf Courses. (A/R & M/O works at Maharaja Surajmal Stadium Nangloi for the year 2019-20) विभिन्न खेल परिसरों / गोल्फ कोर्स का रखरखाव (ए/आर एंड एम/ओ वर्ष 2019-20 में महाराजा सूरजमल स्टेडियम

के लिए काम)।

SH: Renovation of Guard room, repair of boundary wall i/c fixing of concertina coil along western wall and fixing of Retro-reflective boards at Maharaja Surajmal Stadium, Nangloi.

महाराजा सूरजमल स्टेडियम, नांगलोई में गार्ड रूम का नवीनीकरण, कंसर्टिना कॉइल को ठीक करने सहित बाउंड्री

वॉल की मरम्मत, वेस्टर्न वॉल के साथ और रेट्रो-चिंतनशील बोर्डों को ठीक करना।

Ref:1. Performance guarantee amounting to Rs. 20,100/- vide FDR Account No. 34930300014241 dated 20.01.2020 valid upto 19.07.2020 issued by Bank of Baroda, Krishna Nagar, Delhi- 110051 submitted by you vide letter no. nil dated 20.01.2020. निष्पादन गारंटी रुपये 20,100/- एफ डी आर खाता 34930300014241 दिनांक 20.01.2020 से 19.07.2020 तक मान्य, जारीकर्ता बैंक ऑफ बड़ौदा,कृष्णा नगर, दिल्ली- 110051 पत्र संख्या शून्य दिनांक 20.01.2020 आपके द्वारा प्रस्तत की गई है।

2. This office letter of intent/acceptance of your tender issued vide no.

F1(477)EE/SMC/DDA/2019-20/693 date 15.01.2020.

जारी किए गए अपने निविदा के इरादे / स्वीकृति का यह कार्यालय पत्र नं F1 (477) EE/ SMC/ DDA/ 2019-20 / 693 दिनांक 15.01.2020.

Sir,

Your Percenatage rate tender for the above mentioned work has been accepted on behalf of the Delhi Development Authority as per the rates and conditions given below. नीचे दी गई प्रतिशत दरों और शर्तों के अनुसार, दिल्ली विकास प्राधिकरण की तरफ से उपर्युक्त कार्य के लिए आपकी प्रतिशत दर निविदा स्वीकार करली गई है।

1. Estt. Cost/ अनुमानित लागत

Rs. 4,03,855/-

(Rs. Four lakh three thousand eight hundred fifty five

only)

(रुपयें चार लाख तीन हजार आठ सौ पचपन केवल)

2. Tendered /Quoted Amount

Rs. 4.23,482/-

(Rs. Four lakh twenty three thousand four hundred

eighty two only)

(रुपये चार लाख तेईस हजार हजार चार सौ बयासी केवल)

3. Percentage/Quoted

4.86 % Above

Contd.2.

4. Negotiated /Accepted Tendered

Amount

स्वीकृत निविदा/राशि

Rs. 4,00,382/-

(Rs.Four lakh three hundred eighty two only)

(रुपये चार लाख तीन सौ बयासी केवल)

5. Negotiated Percentage

0.86 % Below

6. Time allowed/ समय की अनुमति

30 days (दिन)

The performance guarantee 5% of the tendered amount as FDR Account No. 34930300014241 dated 20.01.2020 amounting to Rs. 20,100/-(Rupees Twenty thousand one hundred only) valid upto 19.07.2020 issued by Bank of Baroda, Krishna Nagar, Delhi- 110051 Delhi- 110085 submitted by you, has been considered by the Competent Authority.

सक्षम प्राधिकारी द्वारा विचार किया गया है कि आपके द्वारा प्रस्तुत की गई निविदा राशि की 5% निष्पादन गारंटी के रूप में एफ डी आर खाता संख्या 34930300014241 दिनांक 20.01.2020 रुपये 20,100/- (रुपये बीस हजार एक सौ केवल)

बैंक ऑफ बड़ौदा,कृष्णा नगर दिल्ली- 110051 जारी किए गए दिनांक 19.07.2020 तक वैध माना गया है।

You are requested to contact Assistant Engineer- III/SMC for taking possession of the site & start the work. You are also requested to attend this office along with non-judicial stamp paper worth Rs. 50/- to sign to complete the formal agreement within 7 days from the date of this letter. Your negotiated letter dated17.12.2019 is not the part of the agreement.

आपसे अनुरोध है कि साइट पर कब्जा करने और काम शुरू करने के लिए सहायक अभियंता- III/ एसएमसी से संपर्क करें। आप से यह भी अनुरोध है कि आपको इस कार्यालय में इस पत्र के जारी होने की तारीख से 7 दिनों के भीतर गैर-न्यायिक 50रु/- के स्टैंप पेपर के साथ-साथ औपचारिक समझौते पर हस्ताक्षर करने है। आपका समझौता पत्र दिनांक

17.12.2019 अनुबंध का हिस्सा बन गया है ।

Please note that the time allowed for carrying out the work will be reckoned from the 10th days after the date of issue of this letter to commence the work. Further if you fail to commence the work as specified above, the award letter will be withdrawn by DDA without prejudice to any other right or remedy available on law will be at liberty to forfeit the Earnest Money and performance guarantee absolutely.

कृपया ध्यान दें कि काम करने के लिए अनुमित के समय को 'काम शुरू करने के लिए इस पत्र के जारी होने की तारीख के 10 दिनों के बाद से गिना जाएगा। इसके अलावा यदि आप ऊपर निर्दिष्ट कार्य शुरू करने में असफल हो जाते हैं, तो डीडीए द्वारा किसी भी अन्य अधिकार या कानून पर उपलब्ध उपायों के लिए पूर्वाग्रह से वापस ले लिया जाएगा अग्रिम धन राशि और प्रदर्शन गारंटी को पूरी तरह से ज़ब्त करने के लिए स्वतंत्र होगा।

Yours faithfully, आपका विश्वसनीय,

अधिशाषी अभियंता Executive Engineer, एसएमसी/डीडीए SMC/DDA

Copy to (प्रतिलिपि): -

- Commissioner (Sports)/DDA. आयुक्त (खेल) / डीडीए
- 2. Chief Engineer (Sports)DDA मुख्य अभियंता (खेल) डीडीए

- Project Director (Sports)/DDA. परियोजना निदेशक (खेल) / डीडीए
- Director (System) DDA . निदेशक (सिस्टम) डीडीए
- 5. Executive Engineer/QAC-I/DDA अधिशाषी अभियंता / क्यूएसी- I/ डीडीए
- 6. Dy. CAO (Sports)/DDA उप. सीएओ (खेल) / डीडीए
- 7. Secy./Coordination. सचिव।समन्वय
- 8. Secy/ /DDA. सचिव / / डीडीए
- Labour Commissioner, Rajpura Road, New Delhi. श्रम आयुक्त, राजपुरा रोड, नई दिल्ली
- 10. Dy. Commr. Sales Tax Office Govt. of NCT Room No. 211, Bikri Kar Bhawan, ITO, New Delhi. उप Commr बिक्री कर कार्यालय सरकार एनसीटी कमरा सं 211, बिक्री कर भवन, आई टी ओ, नई दिल्ली।
- 11. Trans Yamuna Contractor association (Regd) 11-12 Vir Sawakar Market (Budh Bazar) Gandhi Nagar, New Delhi-110031 (UPC). यमुना ठेकेदार संघ (रजिंग) 11-12 वीर सवाकर बाजार (बुध बाज़ार) गांधी नगर, नई दिल्ली -110031 (यूपीसी)।
 - 12. Delhi Contractors Building association (Regd) No. 5503 Ch. Bhim Singh Road, Delhi (Ch. Prem Raj Bhawan New Chandrawal Road (UPC). दिल्ली के ठेकेदार बिल्डिंग एसोसिएशन (पंजीकरण) सं। 5503 च।भीम सिंह रोड, दिल्ली (चौ प्रेम राज भवन नई चंदावल रोड (यपीसी)
 - 13. Delhi Contractors Welfare Association (Regd) 306, Masjid Moth, South Extn. Part-II, New Delhi-110049 (UPC). दिल्ली कन्स्ट्रक्टर्स वेलफेयर एसोसिएशन (रजिड) 306, मस्जिद मॉथ, दक्षिण विस्तार भाग- II, नई दिल्ली -110049 (यपीसी)
 - 14. Indian Contractor Association (Regd) G-80/20, Main Bazar Laxmi Nagar, Delhi-110092 (UPC). भारतीय ठेकेदार एसोसिएशन (रजिड) जी -80 / 20, मुख्य बाजार लक्ष्मी नगर, दिल्ली -110092 (यूपीसी)।
 - 15. Assistant Engineer-III/SMC/DDA for information alongwith copy of schedule of quantities. जानकारी के लिए सहायक अभियंता— III /एसएमसी/डीडीए, मात्रा के अनुसूची की प्रति के साथ।
 - 16. Head Clerk SMC/ DDA. He is requested to issue the Master Register at once. हेड क्लर्क एसएमसी/डीडीए उन्हें एक बार में मास्टर रजिस्टर जारी करने का अनुरोध किया जाता है।
 - 17. Accountant/SMC/ DDA. लेखाकार/एसएमसी / डीडीए
 - 18. Copy of agreement. समझौते की प्रतिलिपि
 - 19. E-mail to <u>ddatender@dda.org.in</u> ई-मेल को <u>ddatender@dda.org.in</u>
 - 20. Guard file गार्ड फ़ाइल

अधियाषी अभियंता Executive Engineer, एसएमसी/डीडीए SMC/DDA

Percentage BoQ

Name of Work: M/o Various sport complexes/Golf Courses. (A/R & M/O works at Maharaja Surajmal Stadium Nangloi for the year 2019-20)
SH: Renovation of Guard room, repair of boundary wall i/c fixing of concertina coil along western wall and fixing of Retro-reflective boards at Maharaja Surajmal Stadium, Nangloi.

Estimated Cost: Rs. 4,03,855/-

NIT No: 18/NIT/AE(P)/ EE/SMC/DDA/2019-20

Bidder M/s S.V. Enterprises Name :

(This BOQ template must not be modified/replaced by the bidder and the same should be uploaded after filling the relevent columns, else the bidder is liable to be rejected for this tender. Bidders are allowed to enter the

inis BOC		iaino and valu	-	NUMBER	NUMBER#	TEXT#
	TEXT #	NUMBER#	TEXT #		TOTAL AMOUNT	TOTAL AMOUNT
SI. No.	Item Description	Quantity	Units	Rate	TOTAL AMOUNT	In Words
				-		
						55
		4	5	6	53	INR Fifty Six Thousand Six Hundred & Forty Two and
4	2					Paise Forty Only
	Stone work (machine cut edges) for wall lining etc. (veneer work) upto 10 metre height, backing filled with a grout of average 12 mm thick cement mortar 1:3 (1 cement : 3 coarse sand) including pointing in white cement mortar 1:2 (1 white cement : 2 stone dust) with an admixture of pigment matching the stone shade : (To be secured to the backing and the sides by means of cramps and pins which shall be paid for separately) : a) Gang		,	37.5		raise raisy and
	saw cut stone: 30mm thick Red Sand Stone	24.00	sqm	2360.10	56642.4	40 One Hundred & Fight and
		24.00	Sqiii	2000111		INR Twenty Two Thousand One Hundred & Eight and Paise Forty Five Only
2.00	Fixing available sand stone for wall lining etc. (veneer work) upto 10 metre height, a backing filled with a grout of average 12 mm thick cement mortar 1:3 (1 cement : 3 coarse sand) including pointing in white cement mortar 1:2 (1 white cement : 2 stone dust) with an admixture of pigment matching the stone shade : (To be secured to the backing and the sides by means of cramps and pins which shall be paid for separately) : a) Gang saw cut stone: 30mm thick Red sand stone (i/c cost of collecting, cleaning etc. complete)	13.00	sqm	1700.65	22108.	45 INR Five Thousand Three Hundred & Sixty and Pais
3.00	Random rubble masonry with available hard stone in superstructure above plinth level and upto floor five level, including leveling up with cement concrete 1:6:12 (1 cement : 6 coarse sand : 12 graded stone aggregate 20 mm nominal size) at window sills, ceiling level and the like. Cement mortar 1:6 (1 cement : 6 coarse sand) (i/c cost of collecting,	1.00	cum	5360.45	5360	Forty Five Only .45 INR Seven Thousand One Hundred & Forty Two an
	cleaning etc. complete)	1.00	Cum	Cutti		INR Seven Thousand One Hundred a rooty rite
4.00	cleaning etc. complete) Structural steel work in single section, fixed with or without connecting plate, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all cutting.	83.00	kg	86.05	7142	Paise Fifteen Only .15 INR Forty Nine Thousand Four Hundred & Fifty and
		00.00				Paise Fifty Only
5.00	complete. Structural steel work riveted, bolted or welded in built up sections, trusses and framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved work, including cutting, hoisting, fixing in position and applying a priming coat of approved work.	d 486.00	kg	101.75	49450	
12.0	steel primer all complete.					and Paise Fifty Only
6.00	Painting with synthetic enamel paint of approved brand and mandeters	570.00	sqm	79.95	4557	INR Three Thousand Six Hundred & Seventy Nine Paise Seventy Only
7.00	the reter proofing cement paint of required shade : Old Work (one of	62.00	.on	59.35	367	9.70 Paise Severity Only

	Distempering with dry distemper of approved brand and manufacture (one or more coats)		100		1	NR Four Thousand Six Hundred & Eight and Paise Fifteen Only
1	and of required shade on old work to give an even shade.	93.00	sqm	49.55	4608.15	INR Seven Thousand One Hundred & Seventy Two and
	Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, having thermal stability for hot & cold water supply, including all CPVC plain & brass threaded fittings, i/c fixing the pipe with clamps at 1.00 m spacing. This includes jointing of pipes & fittings with one step CPVC solvent cement and the cost of cutting chases and making good the same including testing of joints complete as per direction of Engineer in Charge. Concealed work, including cutting chases and making good the walls etc.: 20 mm nominal outer dia Pipes.	15.00	metre	478.15		Paise Twenty Five Only INR Four Hundred & Eighty Six and Paise Fifteen Only
0.00	Providing and fixing PTMT bib cock of approved quality and colour.: 15 mm nominal bore,	3.00	each	162.05	486.15	INR One Hundred & Sixteen and Paise Fifty Five Only
11.00	Providing and fixing PTMT stop cock of approved quality and colour. 15 mm nominal bore, 86 mm long, weighing not less than 88 gms	1.00	each	116.55	116 55	
12.00	Providing and fixing uplasticised PVC connection pipe with brass unions: 45cm length 15mm nominal bore	2.00	each	83.00	166.00	
13.00	Welding by gas or electric plant including transportation of plant at site etc. complete.	500.00	cm	3.35	1675.00	
14.00	Providing and fixing ISI marked oxidised M.S. sliding door bolts with nuts and screws etc. complete: 300x16 mm	5.00	each	183.30	916.50	INR Twelve Thousand Three Hundred & Fourteen an
15.00	Brick work with common burnt clay F.P.S. (non modular) bricks of class designation 7.5 in foundation and plinth in: Cement mortar 1:6 (1 cement : 6 coarse sand)	2.00	cum	6157.45	12314.90	INP Three Thousand One Hundred & Eighty Nine and
16.00	15 mm cement plaster on rough side of single or half brick wall of mix: 1:4 (1 cement: 4 coarse sand)	10.00	sqm	318.95	100000000000000000000000000000000000000	Paise Fifty Only INR Four Thousand One Hundred & Forty Two and
17.00	1.4 (1 cement: 4 coarse sand)	15.00	sqm	276.15	4142.2	5 Paise Twenty Five Only INR Two Hundred & Sixty Four and Paise Fifty Only
18.00	the soil as deported in layers not exceeding 20 cm in depth, including consolidating and deposited layer by ramming watering etc., disposing of surplus excavated soil as directed with in a lead of 50 mm and lift upto 1.5 m. All kind of soil	10.00	each	26.45	264.5	
19.00	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level :1:2:4 (1 cement : 2 coarse sand	1.00	cum	6788.60	6788.€	Paise Sixty Only
20.00	- tribles steel (Grade 304) railing made of Hollow tubes, charmers,	170.00	kg	488.50	83045.	15, 179,160

otal in	Add 0% for cost index Figures Rate in Figures	403855.10	metre metre	0.00		INR Zero Ook
otal in	Figures				0.00	INR Zero Only
			metre	290.80	29080.00	
23.00	Aud 0% for cost index					
		100.00				
	10 metre openable length (total length 90 m), having 50 nos rounds per 6 metre length, upto 3 m height of wall with existing angle iron 'Y' shaped placed 2.4m or 3.00 m apart and with 9 horizontal R.B.T. reinforced barbed wire, stud tied with G.I. staples and G.I. clips to retain horizontal, including necessary bolts or G.I. barbed wire tied to angle iron, all Spring core (2.5mm thick) wire of high tensile strength of 165 kg/ sq.mm with tape (0.52 mm thick) and weight 43.478 gm/ metre (cost of M.S. angle, C.C. blocks shall be paid					INR Twenty Nine Thousand &Eighty Only
22.00	Providing and fixing concertina coil fencing with punched tape concertina coil 600 mm dia 10 metre openable length (total length 90 m), having 50 cm.	12.00	sqm	4994.55	59934.6	0
21.0	aluminium sheet, face to be fully covered with high intensity and encapsulated lens type heat activated retro reflective sheeting conforming to type - III of ASTM-D-4956-01 as approved by Engineer-in-charge, letters, borders etc. as per IRC ± 67-2001 in silver white with blue colour back ground and with high intensity grade, pasted on substrate by conforming to class II of ASTM-D-4956-01 and fixing the same to the plate of structural frame work by means of suitable sized aluminium alloys, rivets or bolts & nuts @ 300 mm centre to centre all along the periphery as well as in two vertical rows along with thefi grey colour on the back side of aluminium sheet including appropriate priming coat. The all complete as per drawings, specification and direction of the engineer-in charge.(Structural frame work including M.S. plate to be provided separately. Rectangular					INR Fifty Nine Thousand Nine Hundred & Thirty Fou and Paise Sixty Only

अधिशासी अभियन्ता खेल प्रबंधन प्रकोच्ड िरि कोर्ट नई दिल्ली-110043

23/01/2000